
Fill in the Blank #______Name___________ 
Use the map to fill in the blanks below. 

A is located __north___________ of the Equator, therefore, the latitude is__30 N______. 

A is located __west_____ of the Prime Meridian; therefore, the longitude is __90 W_____. 

B is located __________________ of the Equator, therefore, the latitude is ___________. 
B is located ____________ of the Prime Meridian; therefore, the longitude is ___________. 

C is located __________________ of the Equator, therefore, the latitude is____________. 
C is located ____________ of the Prime Meridian; therefore, the longitude is ___________. 

D is located __________________ of the Equator, therefore, the latitude is___________. 
D is located ____________ of the Prime Meridian; therefore, the longitude is ___________. 

E is located __________________ of the Equator, therefore, the latitude is___________. 
E is located ____________ of the Prime Meridian; therefore, the longitude is ___________. 

F is located __________________ of the Equator, therefore, the latitude is___________. 
F is located ___________ of the Prime Meridian; therefore, the longitude is ___________. 

G is located __________________ of the Equator, therefore, the latitude is___________. 
G is located ___________ of the Prime Meridian; therefore, the longitude is ___________. 

H is located __________________ of the Equator, therefore, the latitude is___________. 
H is located ___________ of the Prime Meridian; therefore, the longitude is ___________. 

Give the coordinates
I ___________ ___________ , ___________ ___________ 
J___________ ___________ , ___________ ___________ 
K___________ ___________ , ___________ ___________


